
Math Olympiad (Class 6th) 

Total Marks: 30                                             2022-23                  Time: 1 Hour 

 

Name: District: 
Father’s Name: Block: 

Class: Village: 
School Name: Date: 
not: hryk pRSn nUM iDAwnpUrvk piVAw jwvy[hryk pRSn 1 AMk dw hY[ hryk pRSn dy a`qr leI cwr ivklp hn 

ijMnHW iv`coN kyvl ie`k TIk hY[shI ivklp A`gy shI (  ) dw inSwn lgwau[ 
Note: Read all the questions carefully. Each question carries 1 mark. There are four options for each 

question out of which only one is correct. Put a tick (  ) mark on the correct option. 
 

Q. 1) 10 ਅਤ੃ 40 ਦ੃ ਵਵਿੱ ਚਕਾਯ ਵਕਿੰ ਨੀਆਂ ਅਬਾਜ ਷ਿੰ ਵਿਆਵਾਂ ਸਨ? 

How many prime numbers are there between 10 and 40? 

a) 11  b) 7  c) 8  d) 9 

Q. 2) ਦ੅ ਷ਿੰ ਵਿਆਵਾਂ ਦ੃ LCM ਅਤ੃ HCF ਦਾ ਗੁਣਨਪਰ 275 ਸ੄। ਇਸਨਾਂ ਵਵਿੱ ਚੋਂ ਇਿੱ ਕ ਷ਿੰ ਵਿਆ 11 ਸ੄ ਤਾਂ ਦੂਜੀ ਷ਿੰ ਵਿਆ ਩ਤਾ ਕਯ੅।  
Product of LCM and HCF of two numbers is 275 and one of the numbers is 11 then find the other number. 

a) 264  b) 25  c) 27  d) 55 

Q. 3) ਸ੃ਠ ਵਰਵਿਆਂ ਵਵਿੱ ਚੋਂ ਵਕਸੜੀ ਷ਿੰ ਵਿਆ ਩ੂਯਨ ਷ਿੰ ਵਿਆਵਾਂ ਦੀ ਜ੅ੜਾਤਭਕ ਤਤ਷ਭਕ ਸ੄? 

Which of the following is additive identity of whole numbers? 

a) 0  b) 1  c) 10  d) – 1  

Q. 4) ਇਿੱਕ ਵਯਗ ਦਾ ਩ਵਯਭਾ਩ ਩ਤਾ ਕਯ੅ ਵਜ਷ਦਾ ਿ੃ਤਯਪਰ 81 ਵਯਗ ਷ਭ ਸ੄। 
Find the perimeter of a square whose area is 81 cm2. 

a) 108 cm b) 81 cm c) 36 cm d) 27 cm  

Q. 5) ਉਸ ਛ੅ਟੀ ਤੋਂ ਛ੅ਟੀ ਷ਿੰ ਵਿਆ ਩ਤਾ ਕਯ੅ ਜ੅ 18, 30 ਅਤ੃ 45 ਨਾਰ ਬਾਜਮ੅ਗ ਸ੅ਵ੃ । 

Find the smallest number which is divisible by 18, 30 and 45.  

a) 60  b) 90  c) 120  d) 150 

Q. 6) ਩ਵਸਰੀਆਂ 6 ਵਜ਷ਤ ਩ਰਾਵਕਰਤਕ ਷ਿੰ ਵਿਆਵਾਂ ਦਾ ਭਿੱ ਧਭਾਨ ਩ਤਾ ਕਯ੅। 
Find the mean of the first 6 even natural numbers. 

a) 6  b) 9  c) 3.5  d) 7 

Q. 7) ਦ੅ ਵ਷ਤੂਆਂ A ਅਤ੃ B ਦ੃ ਭੁਿੱ ਰ ਦਾ ਅਨੁ਩ਾਤ ਩ਤਾ ਕਯ੅ ਵਜਿੱ ਥ੃ ਵ਷ਤੂ A ਦਾ ਭੁਿੱ ਰ 36 ਯੁ਩਋ ਩ਰਤੀ 100 ਗਰਾਭ ਅਤ੃ ਵ਷ਤੂ B ਦਾ ਭੁਿੱ ਰ 180 
ਯੁ਩਋ ਩ਰਤੀ ਵਕਰ੅ਗਰਾਭ ਸ੄। 
Find the ratio of the price of two articles A and B where price of article A is Rs. 36 per 100 gram and Price of article B 
is Rs. 180 per kilogram. 
a) 2:1  b) 3:1  c) 1:5  d) 1:10 

Q. 8) ਭੁਿੱ ਰ ਩ਤਾ ਕਯ੅ (Find the value of):      (0.008 × 0.01 × 0.072) ÷ (0.12 × 0.0004)  

a) 1.2  b) 12  c) 1200  d) 0.12 

Q. 9) 5 ਅਿੰਕਾਂ ਵਾਰੀ ਷ਬ ਤੋਂ ਵਿੱ ਡੀ ਩ਰਾਵਕਰਤਕ ਷ਿੰ ਵਿਆ ਅਤ੃ 6 ਅਿੰ ਕਾਂ ਵਾਰੀ ਷ਬ ਤੋਂ ਛ੅ਟੀ ਩ੂਯਨ ਷ਿੰ ਵਿਆ ਦਾ ਅਿੰ ਤਯ ਩ਤਾ ਕਯ੅। 
Find the difference between largest 5 digit natural number and smallest 6 digit whole number. 

a) 1  b) 100000 c) 899999 d) 99999  

 



Q. 10) 4 ਅਿੰ ਕਾਂ ਵਾਰੀ ਷ਬ ਤੋਂ ਵਿੱ ਡੀ ਅਤ੃ 4 ਅਿੰ ਕਾਂ ਵਾਰੀ ਷ਬ ਤੋਂ ਛ੅ਟੀ ਷ਿੰ ਵਿਆ ਦ੃ ਜ੅ੜ ਦਾ ਅਗ੃ਤਯ ਩ਤਾ ਕਯ੅। 
Find the successor of sum of the greatest four digit number and the smallest four digit number. 

a) 10998 b) 9000  c) 11000 d) 10999 

Q. 11) ਇਿੱਕ ਵਵਅਕਤੀ 12 ਵਕ.ਭੀ. ਦਾ ਷ਪਯ 10 ਵਭਨਟਾਂ ਵਵਿੱ ਚ ਤ੄ਅ ਕਯ ਷ਕਦਾ ਸ੄। ਉਸ 2 ਘਿੰ ਟ੃ ਵਵਿੱ ਚ ਵਕਿੰ ਨਾ ਷ਪਯ ਤ੄ਅ ਕਯ੃ਗਾ? 

A person can travel 12 km in 10 minutes. How much distance will he cover in 2 hours? 

a) 120 km b) 144 km c) 72 km d) 36 km 

Q. 12) ਸ੃ਠ ਵਰਿੀਆਂ ਵਵਿੱ ਚੋਂ ਵਕਸੜੀ ਷ਿੰ ਵਿਆ 2 ਅਤ੃ 3 ਦ੅ਵਾਂ ਨਾਰ ਬਾਜਮ੅ਗ ਸ੄? 
      Which of the following number is divisible by both 2 and 3? 

a) 2049        b) 2056            c)   2084        d) 2682 

Q. 13) ਇਿੱਕ ਵਕਰਕ੃ਟਯ ਨੇ ਅਿੱ ਠ ਩ਾਯੀਆਂ ਵਵਿੱ ਚ ਸ੃ਠ ਵਰਿ੃ ਅਨੁ਷ਾਯ ਯਨ ਫਣਾ਋। ਉ਷ਦਾ ਭਿੱ ਧਭਾਨ ਷ਕ੅ਯ ਩ਤਾ ਕਯ੅। 
 A cricketer scores the following runs in eight innings. What will be their mean score? 

58, 76, 40, 35, 46, 45, 0, 100 

a) 400  b) 50  c) 200  d) 100 

 

Q. 14) ਷ਬ ਤੋਂ ਵਿੱ ਡੀ ਵਜ਷ਤ ਅਬਾਜ ਷ਿੰ ਵਿਆ ਵਕਸੜੀ ਸ੄? 
       Which is the biggest even prime number ? 

a) 998     b) 4           c) 2          d) ਩ਤਾ ਨਸੀਂ ਕਯ ਷ਕਦ੃ (can’t be found) 

Q. 15) ਇਿੱਕ ਤਾਯ ਦ੃ ਟੁਕੜ੃ ਨੂਿੰ  ਭ੅ੜ ਕ੃ ਇਿੱ ਕ ਵਯਗ ਫਣਾਇਆ ਵਗਆ ਸ੄ ਵਜ਷ਦਾ ਿ੃ਤਯਪਰ 121 ਵਯਗ ਷ਭ ਸ੄। ਤਾਯ ਦੀ ਰਿੰ ਫਾਈ ਩ਤਾ ਕਯ੅। 
A square is made by folding a wire. The area of the square such formed is 121 sq. cm. Find the length of the wire. 

a) 11 cm b) 22 cm c) 44 cm d) 88 cm 

 Q. 16) ਸ੃ਠ ਵਰਵਿਆਂ ਵਵਿੱ ਚੋਂ ਵਕਸੜਾ ਜ੅ੜਾ ਷ਵਸ-ਅਬਾਜ ਸ੄?    
Which of the following pairs is co-prime? 

a) 12, 35 b) 11, 22 c) 24, 27 d) 14, 35 
Q. 17) ਵਦਿੱ ਤ੃ ਵਚਿੱ ਤਯ ਦਾ ਩ਵਯਭਾ਩ ਩ਤਾ ਕਯ੅। 
What is the perimeter of the given figure?  

a) 16 cm b) 20 cm c) 18 cm d) 22 cm 
 

Q. 18) ਵਕ਷੃ ਵੀ ਦ੅ ਰਗਾਤਾਯ ਵਜ਷ਤ ਷ਿੰ ਵਿਆਵਾਂ ਦਾ HCF ਕੀ ਸੁਿੰ ਦਾ ਸ੄? 
What is the HCF of any two consecutive even numbers? 

a) 1  b) 2  c) 4  d) 3 

Q. 19) ਇਿੱਕ ਜਭਾਤ ਵਵਿੱ ਚ 8 ਭੁਿੰ ੜ੃ ਅਤ੃ 24 ਕੁੜੀਆਂ ਸਨ। ਕੁੜੀਆਂ ਦੀ ਵਗਣਤੀ ਕੁਰ ਵਵਵਦਆਯਥੀਆਂ ਦੀ ਵਗਣਤੀ ਦਾ ਵਕਸੜਾ ਵਬਿੰ ਨ ਸ੄? 
In a class there are 8 boys and 24 girls. What fraction of total students in the class is girls? 

a) 
1

4
  b) 

1

3
  c) 

1

2
  d) 

3

4
  

Q. 20) 4.768 ਵਵਿੱ ਚ ਕੀ ਜ੅ਵੜਆ ਜਾਵ੃ ਵਕ 9 ਩ਰਾ਩ਤ ਸ੅ਵ੃? 

What should be added to 4.768 to get 9? 

a) 5.232 b) 5.332 c) 4.332  d) 4.232 

Q. 21) ਷ਬ ਤੋਂ ਘਿੱ ਟ ਬੁਜਾਵਾਂ ਵਾਰਾ ਫਸੁਬੁਜ ਵਕਸੜਾ ਸ੄? 

The polygon which is made with the minimum number of sides is: 

a) ਩ਿੰਜਬੁਜ (Pentagon)  b) ਵਤਰਬੁਜ (Triangle) c) ਚਤੁਯਬੁਜ (Quadrilateral) d) ਵਯਗ (Square) 

 



Q. 22) ਜ੃ਕਯ ਵਕ਷੃ ਵਤਰਬੁਜ ਦੀਆਂ ਷ਾਯੀਆਂ ਬੁਜਾਵਾਂ ਫਯਾਫਯ ਸਨ ਤਾਂ ਇਸ ਵਕ਷ ਤਯਹਾਂ ਦੀ ਵਤਰਬੁਜ ਸ੄? 

If all the sides of a triangle are equal then which type of the triangle is it? 

a) ਷ਭਕ੅ਣੀ ਵਤਰਬੁਜ (Right angled triangle)  b) ਵਨਊਨ ਕ੅ਣੀ ਵਤਰਬੁਜ (Acute angled triangle)  

c) ਅਵਧਕ ਕ੅ਣੀ ਵਤਰਬੁਜ (Obtuse angled triangle) d) ਇਸਨਾਂ ਵਵਿੱ ਚੋਂ ਕ੅ਈ ਨਸੀਂ (none of these) 

Q. 23) ਵਦਿੱ ਤ੃ ਵਚਿੱ ਤਯ ਵਵਿੱ ਚ ਵਕਿੰ ਨੀਆਂ ਷ਭਵਭਤ ਯ੃ਿਾਵਾਂ ਸਨ? 
How many lines of symmetry does the given figure has?  
a) 1  b) 2  c) 3  d) 4 

Q. 24) ਸ੃ਠ ਵਰਵਿਆਂ ਵਵਿੱ ਚੋਂ ਵਕਸੜਾ ਦਸ਼ਭਰਵ ਷ਬ ਤੋਂ ਵਿੱ ਡਾ ਸ੄? 

Which of the following decimal is the greatest? 
a) 0.2  b) 0.21  c) 0.07  d) 0.021 

Q. 25) ਵਦਿੱ ਤੀ ਗਈ ਰੜੀ ਵਵਿੱ ਚ ਿਾਰੀ ਥਾਂ ਬਯ੅: Choose the correct option to fill the blank space: 
     36, 34, 38, 36, 40, 38, ____ 
a) 34  b) 36  c) 40  d) 42 

Q. 26) ਅਵਤਾਯ ਦੀ਩ਕ ਦ੃ ਉੱਤਯ ਵਿੱ ਰ ਿੜਾ ਸ੄ ਅਤ੃ ਦੀ਩ਕ ਅਭਯੀਕ ਦ੃ ਩ੂਯਫ ਵਿੱ ਰ ਿੜਾ ਸ੄। ਅਭਯੀਕ ਨੂਿੰ  ਵਭਰਣ ਰਈ ਅਵਤਾਯ ਨੂਿੰ  ਵਕ਷ 
ਵਦਸ਼ਾ ਵਿੱ ਰ ਤੁਯਨਾ ਩ਵ੃ਗਾ? 
Avtar is standing North to Deepak and Deepak is standing East to Amrik. In which direction will Avtar move to meet 
Amrik? 

a) ਉੱਤਯ ਩ਿੱਛਭ (North West)  b) ਦਿੱ ਿਣ ਩ਿੱਛਭ (South West)  

c) ਉੱਤਯ ਩ੂਯਫ (North East)      d) ਦਿੱ ਿਣ ਩ੂਯਫ(South east)  

Q. 27) ਜ੃ਕਯ GATE ਦਾ ਕ੅ਡ ETAG ਸ੄ ਤਾਂ COLD ਦਾ ਕ੅ਡ ਕੀ ਸ੅ਵ੃ਗਾ? 
 If code of GATE is ETAG, then find the code of COLD. 

 a) OCDL b) LOCD c) DLOC  d) DOCL    

Q. 28) ਵਦਿੱ ਤ੃ ਗ਋ ਵਚਿੱ ਤਯ ਵਵਿੱ ਚ ਇਿੱ ਕ ਩ਾਯਦਯਸ਼ੀ ਸ਼ੀਟ (X) ਇਿੱਕ ਵਡਜ਼ਾਇਨ ਅਤ੃ ਇਿੱ ਕ ਦਾਨੇਦਾਯ ਰਾਈਨ ਨਾਰ ਵਦਿਾਈ ਗਈ ਸ੄।ਸ੃ਠ    
ਵਰਿੀਆ ਂਵਵਿੱ ਚੋਂ ਵਕਸੜਾ ਵਚਿੱ ਤਯ ਇ਷ ਸ਼ੀਟ (X) ਨੂਿੰ  ਇ਷ ਦਾਨੇਦਾਯ ਰਾਈਨ ‘ਤ੃ ਭ੅ੜਣ ਤ੃ ਩ਰਾ਩ਤ ਆਵਕਰਤੀ ਨੂਿੰ  ਦਯ਷ਾ ਵਯਸਾ ਸ੄? 

In the following question, a transparent sheet  with a design and a dotted line on it is given. Choose the correct 
figure from the four options that is the folded form of the sheet (X). 
 
 
 

 
 
 

Q. 29) ਉਸ ਵਵਕਰ਩ ਚੁਣ੅ ਜ੅ ਵਦਿੱ ਤ੃ ਵਚਿੱ ਤਯ ਦਾ ਸ਼ੀਸ਼ਾ ਩ਰਤੀਵਫਿੰ ਫ ਸ੄। 
Choose the alternative which is the mirror image of the given combination. 
 
 
 
 
 
 

Q. 30) ਜ੃ਕਯ ਅਿੱ ਜ ਷੅ਭਵਾਯ ਸ੄ ਤਾਂ ਅਿੱ ਜ ਤੋਂ 15 ਵਦਨਾਂ ਫਾਅਦ ਵਕਸੜਾ ਵਾਯ ਸ੅ਵ੃ਗਾ? 

If today is Monday then which day will be after 15 days? 

a) ਷੅ਭਵਾਯ (Monday)  b) ਭਿੰਗਰਵਾਯ (Tuesday)   

c) ਫੁਿੱ ਧਵਾਯ (Wednesday)  d) ਵੀਯਵਾਯ (Thursday) 
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